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Section I Listening Comprehension (omitted)

Section II Vocabulary and Structure (10 points) 
Directions: There are 20 incomplete sentences in this section. For each sentence there are four choices marked A,B,C and D. Choose the ONE answer that best completes the sentence. Then blacken the corresponding letter on the ANSWER SHEET 1 with a pencil. 
21. In the past, most foresters have been men, but today, a number of women _____ this field is climbing. 

A. registering     B. pursuing      C. devoting      D. engaging 

22. The banknotes which had fooled many bank tellers were discovered to be _____.

A. artificial       B. genuine      C. counterfeit     D. faulty 

23. Without a whole hearted _____ to a keen forward-looking vision and a deep insight, you cannot be a leader. 

A. determination    B. resolution    C. commitment    D. obligation 

24. All transactions are strictly _____ , and we never sell, rent or trade any customer’s name. 

A. considerable     B. confident     C. considerate     D. confidential . 

25. Big businesses enjoy certain _____ that smaller ones do not have. 

A. transactions      B. privileges     C. subsidies      D. substitutes 

26.Your kindness in giving _____ to the consideration of the above problem will be highly appreciated. 

A. importance       B. advantage     C. priority      D. authority 

27. The border incident led to the two countries _____ their diplomatic relations. 

A. breaking out      B. breaking in    C. breaking through    D. breaking off 

28. I meant to sound confident at the interview but I’ m afraid, _____ as self-assertive. 

A. got in            B. got over      C. got off         D. got out 

29. John planned to take part in the competition but had to _____ on account of the car accident. 

A. drop out          B. hold out      C. get out         D. run out 

30. He doesn’t work but he gets a good _____ from his investment. 

A. subsidy           B. income       C. earning        D. salary 

31._____ can help but be fascinated by the world into which he is taken by the science fiction. 

A. Anybody          B.Nobody       C. Somebody     D. Everybody 

32. Anyone with half an eye on the unemployment figures knew that the assertion about economic recovery _____ just around the corner was untrue. 

A. was               B. being         C. would be       D. to be 

33. Oceans continually lose by evaporating much of the river water _____ into them. 

A. to constantly flow               B. be constantly flowing   

C. constantly flows                 D. constantly flowing 

34. The result has turned still worse than it _____ . 

A. would otherwise have been        B. would be otherwise 

C. had otherwise been               D. has otherwise been 

35. There is no reason they should limit how much vitamin you take, _____ they can limit how much water you drink. 

A. much more than      B. no more than      C. no less than      D. any more than 

36. He told us how he dealt with the self-interest of different countries to bring them into a kind of international accord. _____ everyone seemed to benefit. 

A. where              B. what             C. that             D. which 

37. We hope the measures to control prices _____ taken by the government will succeed. 

A. when              B. as                C. since            D. after 

38. The costs of distribution and sales make up a large part of prices that _____. 

A. all products are paid for           B. are paid for all products 

C. all products paid                 D. for which all products paid 

39. So quickly are science and technology advancing _____ is a possibility today may be a reality tomorrow. 

A. that       B. what      C. that which        D. that what 

40. It is still Richard’s ambition to study medicine _____, someday, to make a real contribution to the field of science. 

A. and       B. also        C. but             D. or 
Section Ⅲ Cloze (5 points) 

Directions: For each numbered blank in the following passage, there are four choices marked A,B,C, and D. Choose the best one and mark your answer on the ANSWER SHEET 1. 
Each year, hundreds of thousands of people die form heart attack, a leading cause of death. In the Landmark Physicians’ Health Study at Harvard University in the United States in the late 1980s, a research team led by Dr. Heinekens studied 22, 701 healthy male physicians, half of whom were randomly  41  to take an aspirin every other day while the others took placebos (安慰剂). After the participants had been  42  for an average of five years, the doctors in the aspirin group were found to have suffered 44 percent fewer first heart attacks. 43 ,a recent international study indicates that aspirin can be beneficial for those people with a history of coronary artery(冠动脉)bypass surgery, 44 of their sex, age or whether they have high blood pressure or diabetes. 

According to a report by the American Heart Association. Doctors should consider prescribing 

45 aspirin for middle-aged people with a family history of, or 46 for, heart disease.(Risk factors include smoking, being more than 20 percent overweight, high blood pressure and lack of exercise.) 

Aspirin is also a lifesaver during heart attacks. Paramedics now give it routinely, and experts urge anyone with chest pain, 47 if it spreads to the neck, shoulder or an arm, or is accompanied by sweating, nausea(恶心), light/headedness and breathing difficulty to chew and 48 an aspirin tablet immediately. 

When taking aspirin for heart attack, 49 the plain, uncoated variety. For even faster absorption, crush and mix with a little water. Speed of absorption is critical because most heart attack deaths occur 50 the first few hours after chest pain strikes. 

41. A. expected     B. demanded      C. assigned     D. advised 

42. A. followed     B. examined       C. monitored   D. experienced 

43. A. Meanwhile   B. Above all       C. However    D. In addition 

44. A. in spite      B. regardless       C. careless     D. whatever 

45. A. low-does     B. high-amount     C. more       D. right 

46. A. ready        B. at risk           C. maybe     D. in danger 

47. A. naturally          B. apparently   C. especially   D. furthermore 

48. A. eat               B. swallow     C. digest      D. assimilate 

49. A. choose            B. use         C. hold out    D. pick out 

50. A. for                B. along       C. within     D. except
Section IV Reading Comprehension (40 points)

Part A 

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are for choices marked A,B,C, and D. You should decide on the best choice and blacken the corresponding letter on the ANSWER SHEET1 whit a pencil..

Questions 51 to 54 are based on the following passage: 
A little more than a century ago, Michael Faraday, the noted British physicist, managed to gain audience with a group of high government officials, to demonstrate an electro-chemical principle, in the hope of gaining support for his work. 

After observing the demonstrations closely, one of the officials remarked bluntly, “It’s a fascinating demonstration, young man, but just what practical application will come of this?” 

“I don’t know,” replied Faraday, “but I do know that 100 years from now you’ll be taxing them.” 

From the demonstration of a principle to the marketing of products derived from that principle is often a long, involved series of steps. The speed and effectiveness with which these steps are taken are closely related to the history of management, the art of getting things done. Just as management applies to the wonders that have evolved from Faraday and other inventors, so it applied some 4,000 years ago to the working of the great Egyptian and Mesopotamian import and export firms… to Hannibal’s remarkable feat of crossing the Alps in 218 B.C. with 90,000 foot soldiers, 12,000 horsemen and a “conveyor belt” of 40 elephants…or to the early Christian Church, with its world-shaking concepts of individual freedom and equality. 

These ancient innovators were deeply involved in the problems of authority, divisions of labor, discipline, unity of command, clarity of direction and the other basic factors that are so meaningful to management today. But the real impetus to management as an emerging profession was the Industrial Revolution. Originating in 18-century England, it was triggered by a series of classic inventions and new processes; among them John Kay’s flying Shuttle in 1733, James Hargrove’s’ Spinning Jenny in 1770, Samuel Compton’s Mule Spinner in 1779 and Edmund Cartwright’s Power Loom in 1785.
51. The anecdote about Michael Faraday indicates that _____.

A. politicians tax everything 

B. people are skeptical about the values of pure research 

C. government should support scientists 

D. he was rejected by his government 

52. Management is defined as _____.

A. the creator of the Industrial Revolution 

B. supervising subordinates 

C. the art of getting things done 

D. an emerging profession 

53. Management came into its own _____.

A. in the Egyptian and Mesopotamian import and export firms 

B. in Hannibal’s famous trip across the Alps 

C. in the development of early Christian Church 

D. in the eighteenth century ..

54. A problem of management NOT mentioned in this passage is _____.

A. the problem of command 

B. division of labor 

C. control by authority 

D. competition
Questions 55 to 58 are based on the following passage:.

By education, I mean the influence of the environment upon the individual to produce a permanent change in the habits of behavior, of thought and of attitude. It is in being thus susceptible(容易受影响的)to the environment that man differs from the animals, and the higher animals from the lower. The lower animals are influenced by the environment but not in the direction of changing their habits. Their instinctive responses are few and fixed by heredity(遗传；继承). When transferred to an unnatural situation, such an animal is led astray by its instincts. Thus the “ant-lion” whose instinct implies it to bore into loose sand by pushing backwards with abdomen(腹部)，goes backwards on a plate of glass as soon as danger threatens, and endeavors, with the utmost exertions to bore into it . It knows no other mode of flight, “or if such a lonely animal is engaged upon a chain of actions and is interrupted, it either goes on vainly with the remaining actions (as useless as cultivating an unsown field) or dies in helpless inactivity”. Thus a net-making spider which digs a burrow and rims it with a bastion(堡垒)of gravel and bits of wood, when removed from a half finished home, will not begin again, though it will continue another burrow, even one made with a pencil. 

Advance in the scale of evolution along such lines as these could only be made by the emergence of creatures with more and more complicated instincts. Such beings we know in the ants and spiders. But another line of advance was destined to open out a much more far-reaching possibility of which we do not see the end perhaps even in man. Habits, instead of being born ready-made (when they are called instincts and not habits at all ) were left more and more to the formative influence of the environment, of which the most important factor was the parent who now cared for the young animal during a period of infancy in which vaguer instincts than those of the insects were molded to suit surroundings which might be considerably changed without harm. 

This means, one might at first imagine, that gradually heredity becomes less and environment more important. But this is hardly the truth and certainly not the whole truth. For although fixed automatic responses like those of the insect-like creatures are no longer inherited, although selection for purification of that sort is no longer going on, yet selection for educability is very definitely still of importance. The ability to acquire habits can be conceivably inherited just as much as can definite responses to narrow situations. Besides, since a mechanism---is now, for the first time, created by which the individual (in contradiction to the species) can be fitted to the environment, the latter becomes, in another sense, less not more important. And finally, less not the higher animals who possess the power of changing their environment by engineering feats and the like, a power possessed to some extent even by the beaver (海狸),and preeminently(卓越地)by man. Environment and heredity are in no case exclusive but always-supplementary factors.
55. Which of the following is the most suitable title for the passage? 

A. The Evolution of Insects 

B. Environment and Heredity 

C. Education: The Influence of the Environment 

D. The Instincts of Animals 

56. What can be inferred from the example of the ant-lion in the first paragraph? 

A. Instincts of animals can lead to unreasonable reactions in strange situations. 

B. When it is engaged in a chain actions it cannot be interrupted. 

C. Environment and heredity are two supplementary factors in the evolution of insects. 

D. Along the lines of evolution heredity becomes less and environment more important. 

57. Based on the example provided in the passage, we can tell that when a spider is removed to a new position where half of a net has been made, it will probably_____. 

A. begin a completely new net 

B. destroy the half-net 

C. spin the test of the net 

D. stay away from the net 

58. Which of the following is true about habits according to the passage? 

A. They are natural endowments to living creatures 

B. They are more important than instincts to all animals 

C. They are subject to the formative influence of the environment. 

D. They are destined to open out a much more far-reaching possibility in the evolution of human beings..

Questions 59 to 62 are based on the following passage:
One of the saddest things about the period in which we live is the growing estrangement(疏远)between America and Europe. This may be a surprising discovery to those who are over impressed by the speed with which turbojets can hop from New York to Paris. But to anyone who is aware of what America once meant to English libertarian poets and philosophers, to the young Ibises bitterly excoriating (痛斥) European royalty for the murder of Lincoln, to Italian novelists and poets translating the nineteenth century American classics as a demonstration against Fascism, there is something particularly disquieting in the way that the European Left, historically “pro-American” because it identified America with expansive democracy, now punishes America with Europe’s lack of hope in the future. 

Although America has obviously not fulfilled the visionary hope entertained for it in the romantic heyday, Americans have, until recently, thought of themselves as an idea, a “ proposition”(in Lincoln’s word) set up for the enlightenment and the improvement of mankind. Officially, we live by our original principles; we insist on this boastfully and even inhumanly. And it is precisely this steadfastness to principle that irks(使苦恼，使厌烦) Europeans who under so many pressures have had to shift and to change, to compromise and to retreat. 

Historically, the obstinacy of America’s faith in “principles” has been staggering -----the sacrament(神圣) of the Constitution, the legacy of the Founding Fathers, the moral rightness of all our policies, the invincibility of our faith in the equality and perfectibility of man. From the European point of view, there is something impossibly romantic, visionary, and perfectibility of man. From the European point of view, there is something impossibly romantic, visionary, and finally outrageous about an attachment to political formulas that arose even before a European revolutionary democracy was born of the French Revolution, and that have survived all the socialist utopias and internationals. Americans honestly insist on the equality of men even when they deny this equality in practice; they hold fast to romantic doctrines of perfectibility even when such doctrines contradict their actual or their formal faith---- whether it be as scientists or as orthodox Christians. 

It is fact that while Americans as a people are notoriously empirical. Pragmatic, and unintellectual, they live their lives against a background of unalterable national shibboleths(陈旧的语句). The same abundance of theory that allowed Walt Whitman to fill out his poetry with philosophical road signs of American optimism allows a president to make pious references to God as an American tradition-----references which, despite their somewhat mechanical quality, are not only sincere but which, to most Americans, express the reality of America. 
59. The writer uses the example of Ibises and others to maintain that _____.

A. Europeans do not have the proper appreciation of the United States 

B. Europeans have made a notable shift in attitude toward the United States 

C. American culture has been rediscovered by Europeans 

D. Europeans no longer feel that there should be an exchange of ideas with Americans 

60. The writer states that, until recently, Americans thought of their country as a _____.

A. source of enlightenment 

B. leader in technological progress 

C. recipient of European heritage 

D. peacemaker 

61. The author states that American democracy in practice sometimes is in conflict with _____.

A. theoretical notions of equality 

B. other political systems 

C. Europe’s best interests 

D. Both A and B 

62. Which of the following was NOT mentioned by the author as an American principle? 

A. Equality of man. 

B. Moral rightness as American policy decisions. 

C. Man’s capacity to become perfect. 

D. The inviolability(不可侵犯)of the individual’s integrity

Questions 63 to 65 are based on the following passage: 
The truly incompetent may never know the depths of their own incompetence, a pair of social psychologists said on Thursday. 

“We found again and again that people who perform poorly relative to their peers(同等人)tended to think that they did rather well.” Justin Kruger, co-author of a study on the subject, said in a telephone interview. 

Kruger and co-author David Dunning found that when it came to a variety of skills—logical reasoning, grammar, even sense of humor----people who essentially were inept(无能的；愚蠢的)never realized it ,while those who had some ability were self-critical. 

It had little to do with innate modesty, Kruger said, but rather with a central paradox: Incompetents lack the basic skills to evaluate their performance realistically. Once they get those skills, they know where they stand, even if that is at the bottom, 

Americans and Western Europeans especially had an unrealistically sunny assessment of their own capabilities, Dunning said by telephone in a separate interview, while Japanese and Koreans tended to give a reasonable assessment of their performance. In certain areas, such as athletic performance, which can be easily quantified, there is less self-delusion(欺骗),the researchers said. But even in some cases in which the failure should seem obvious, the perpetrator is blithely(愉快地；快活地)unaware of the problem. 

This was especially true in the areas of logical reasoning, where research subjects -- students at Cornell University, where the two researchers were based -- often rated themselves highly even when they flubbed(搞得一团糟) all questions in a reasoning test. 

Later, when the students were instructed in logical reasoning, they scored better on a test but rate themselves lower, having learned what constituted competence in this area. 

Grammar was another area in which objective knowledge was helpful in determining competence, but the more subjective area of humor posed different challenges, the researchers said. 

Participants were asked to rate how funny certain jokes were, and compare their responses with what an expert panel of comedians thought. On average, participants overestimated their sense of humor by about 16 percentage points. 

This might be thought of as the “above-average effect”, the notion that most Americans would rate themselves as above average, a statistical impossibility. 

The researchers also conducted pilot studies of doctors and gun enthusiasts. The doctors overestimated how well they had performed on a test of medical diagnoses and the gun fanciers thought they knew more than they actually did about gun safety. 

So who should be trusted: The person who admits incompetence of the one who shows confidence? Neither, according to Dunning. 

“You can’t take them at their word. You’ve got to take a look at their performance,” Dunning added. 
63. Why do incompetent people rarely know they are inept? 

A. They are too inept to know what competence is 

B. They are not skillful at logical reasoning, grammar, and sense of humor. 

C. They lack the basic skills to evaluate their performance realistically. 

D. They have some ability to over criticize themselves. 

64. Which of the following statement is NOT true, according to the passage? 

A. Students at Cornell University often rated themselves highly even when they flubbed all questions in a reasoning test. 

B. Grammar was an area in which objective knowledge was helpful in determining competence. 

C. Participants in the test estimated their sense of humor by about 16 percentage points. 

D. Students scored better on a logical reasoning test but rated themselves lower. 

65. What do you know about “above-average effect” based on the passage? 

A. Most Americans assess themselves as above average. 

B. American doctors overestimated how well they had performed on a test of medical diagnoses. 

C. American gun enthusiasts thought they knew more than they actually did about gun safety. 

D. All of the above. 

Part B 

Directions: Read the following passage carefully and then give short answers to the five questions. Write your answers on the ANSWER SHEET2. 

Both in America and Britain there is an eagerness on the part of TV executives to play down the importance of the small screen, except .of course, if the field of selling goods. 

This desire to minimize the social impact of TV is perfectly natural. If it could be conclusively proved that the electronic box was a major factor in determining the attitudes and the values of a nation then two awkward questions would have to be answered. 

Is it right that a medium that has such influence should be primarily concerned with the provision of entertainment and the advertising of goods? 

And an even more embarrassing question people might ask is whether the men now running TV have the authority, the understanding or the intelligence to be in control of such a vital part of the state apparatus. 

Because it is disrupting and disturbing life on almost every level in America and Britain, and because it is largely indulged in by what might be described as the first “telly generation”, violence is the activity that has been most frequently linked with the consequences of TV. 

There are other even more important trends that might be stimulated or provoked by the program content of TV. 

The demoralization of institutions like the army, the church; the contempt for authority, a healthy skepticism and a welcome permissiveness; an over-simplification of complex issues which makes an electorate(选民) impatient with a political process that cannot solve them. How much is TV responsible? And that these trends are helping to change society at an unprecedented rate can hardly be denied. 

Because the impact of these changes is relatively long-term and not easily pinpointed, there is a vast depth of unconcern about these developments. 

On violence, however, there is an intuitive suspicion that TV might have something to do with it. Yet the men running TV have gone to considerable lengths to assure us that we are unduly alarmed about nothing.

66. In order to avoid the repetitions of the word “television”, what other nouns does the author use? Please list at least four. 

67. Can you use another word in this passage to tale the place of “play down ”in para.1? 

68. Why are TV executives in America and Britain eager to play down the importance of TV? 

69. Why do people believe that TV has something to do with increasing violence? 

70. What is the author’s attitude toward the argument over TV’s influence?
Section V Translation (10 points) 

Directions: In this section there is a passage in English. Translate the five sentences underlined into Chinese and write your translation on the ANSWER SHEET2. 

Lange, multinational corporations may be the companies whose ups and downs seize headlines. (71) But to a far greater extent than most Americans realize, the economy’s vitality depends on the fortunes of tiny shops and restaurants, neighborhood services and factories. Small businesses, defined as those with fewer than 100 workers, now employ 60 percent of the workforce and expected to generate half of all new jobs between now and the year 2,000. Some 1.2 million small forms have opened their doors over the past 6 years of economic growth, and 1989 will see an additional 200,000 entrepreneurs striking off on their own. 

Too many of these pioneers, however, will blaze ahead unprepared. Idealists will overestimate the clamor for their products or fail to factor in the competition. Nearly everyone will underestimate, often fatally .the capital that success requires. (72) Midcareer executives, forced by a takeover or a restructuring to quit the corporation and find another way to support themselves, may savor the idea of being their own boss but may forget that entrepreneurs must also, at least for a while, be bookkeepers and receptionists, too. According to Small Business Administration data, 24 of every 100 businesses starting out today are likely to disappear in two years, and 27 more will have shut their doors four years from now. By 1995, more than 60 of those 100 start-ups, 77 percent of the companies surveyed were still alive. (73) Most credited their success in large part to having picked a business they already were comfortable in. Eighty percent had worked with the same product or service in their last jobs. 

Thinking through an enterprise before the launch is obviously critical. But many entrepreneurs forget that a firm’s health in its infancy may be little indication of how well it will age .you must tenderly monitor its pulse, in their zeal, to expand. Small business owners often ignore early warning signs of a stagnant market or of decaying profitability. (74) They hopefully four more and more into the enterprise, preferring not to acknowledge eroding profit margins that means the market for their ingenious service or product has evaporated, or that they must cut the payroll or vacate their lavish offices. Only when the financial well runs dry do they see the seriousness of the illness, and by then the patient is usually too far gone to save. 

Frequent checks of your firm’s vital signs will also guide you to a sensible rate of growth. (75) To snatch opportunity, you must spot the signals that it is time to conquer the new markets, add products or perhaps franchise your hot ideas.
Section IV Writing (15 points)

76. Directions: In this section, you are asked to write a composition entitled what is More Important, Wealth of Health? Your composition should be based on the outline given below. You composition should be about 120 words. Remember to write clearly on the ANSWER SHEET 2. 

Outline: 

1. 有人认为财富比健康重要。 

2. 有人认为健康比财富重要。 

3. 你的看法。
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Section  II  Vocabulary  and  Structure.  (10  points)  

Directions:  There are 20 incomplete sentences in this section. For each  sentence  there  are four choices marked A, B, C, and D. Choose the ONE answer that best completes the  sentence. Then blacken the corresponding letter on the ANSWER SHEET 1 with a pencil.  

21.  It is feared that people living near the power station may have been_____ to radiation.  

A. displayed       B. released          C. explored      D. exposed  

22.  Some people are _____ into thinking that they like to store up energy.  

A. measured        B. coaxed           C. deceived      D. delivered  
23. If you think your child’s request is _____; give him a chance to earn the money to buy the item. 

A. worth           B. worthwhile        C. worthy       D. worthless 

24. Parental love should include ____, and so the teenager who is truly loved will receive guidance. 

A. discipline        B. acceptance        C. allowance     D. principal 

25. As a teacher, you have to ____ your methods to suit the needs of slower children. 

A. adopt            B. adjust            C. adapt        D. acquire 

26. The public opinion was that the time was not ____ for the election of such a radical candidate as Mr. Jones. 

A. reasonable        B. practical          C. ready        D. ripe 

27. One reason for the successes of Asian immigrants in the U.S. is that they have taken great _____ to educate their children. 

A. efforts           B. pains             C. attempts      D. endeavors 

28. Watching me pulling the calf awkwardly to the barn, the Irish milkmaid fought hard to ____ her laughter. 

A. hold back        B. hold on           C. hold out       D. hold up 

29. How does it ____ that your answers are identical with his? 

A. come out        B. come off           C. come up      D. come about 

30. There are a few small things that I don’t like about my job, but ______it’s very enjoyable. 

A. above all       B. as usual             C. by and large   D. by all means 

31. I ____ provided you with the money. Why didn’t you ask me? 

A. could have      B. had                C. must have     D. ought to have 

32. No doubt ____ that the effectiveness of the drug needs to be tested by many experiments. 

A. There being      B. It is               C. There is       D. It being 

33. Mary said that she ought not to have made her father angry, ____? 

A. oughtn’t she     B. hadn’t she           C. wasn’t she    D. didn’t she 

34. We often go to the amusement park ____ situated in a deserted field. 

A. that used to be   B. that is used to be      C. what used to be  D. what is used to be 

35. After ____ into the ward, the nurse at the desk asked me several questions. 

A. being wheeled   B. I was wheeled        C. wheeling       D. having been wheeled 

36. Many a plant ____ best in places where there is a great deal of shade. 

A. grows         B. grow                C. has grown      D. have grown 

37. The robber was brought to the judge, his hands _______. 

A. to be fast tied    B. were fast tied       C. having been fast tied   D. fast tied 

38. ____ the diffusion of heat upward to the Earth’s surface, the temperature within the Earth remains constant. 

A. That           B. Despite            C. If                  D. When 

39. ____  are inert outside living cells, but within the appropriate cells they can replicate, causing viral diseases in the host organism. 

A. Viruses         B. That viruses         C. Viruses, which       D. Despite viruses 

40. Only recently ____ possible to separate the components of flagrant substances and to determine their chemical composition. 

A. it becomes      B. having become       C. has it become       D. which becomes 

Section III Cloze (5 points) 

Directions: For each numbered blank in the following passage, there are four choices marked A, B, C, and D. Choose the best one and mark your answer on the ANSWER SHEET 1. 

The China boom is by now a well-documented phenomenon. Who hasn’t  41   the Middle Kingdom“s astounding economic growth (8 percent annually), its tremendous consumer market (1.2 billion people), the investment enthusiasm of foreign suitors ($40 billion in foreign direct investment last year  42  )? China is an economic wonder.  43  Nicholas Lardy of the Brookings Institution, a Washington D.C.-based think tank, “No country  44  its foreign trade as fast as China over the last 20 years. Japan doubled its foreign trade over  45  period; China’s foreign trade was quintupled (使成五倍). They’ve become the pre-eminent producer of labor-intensive manufacturing goods in the world.’’
But there’s been  46  from the dazzling China growth story---namely, the Chinese multinational. No major Chinese companies have yet established themselves, or their brands,  47  the global stage. But things are now starting to change.  48 100 years of poverty and chaos, of being overshadowed by foreign countries and multinationals, Chinese industrial companies are starting to make a mark on the world. 

A new generation of large and credible firms  49  in China in the electronics, appliance and even high-tech sectors. Some have  50  critical mass on the mainland and are now seeking new outlets for their production -- through exports and by building Chinese factories abroad, chiefly in Southeast Asia. 

41. A. listened    B. listened to         C. heard           D. heard of 

42. A. alone      B. aside             C. along           D. lonely 

43. A. As for     B. As to             C. Judging by       D. According to 

44. A. has expanded    B. did expand    C. does expand     D. expands 

45. A. 20-year    B. a 20-year          C. 20-years        D. a 20 years 

46. A. something lost     B. lost something   C. something missing  D. something missed 

47. A. at         B. in               C. over              D. on 

48. A. Before     B. After             C. Since             D. Behind 

49. A. emerge     B. have emerged      C. has emerged       D. is emerged 

50. A. reached    B. reached over       C. reached out        D. reached down 

Section IV Reading Comprehension (40 points ) 

Part A 

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A, B, C, and D. You should decide on the best choice and blacken the corresponding letter on the ANSWER SHEET 1 with a pencil. 
Questions 51 to 54 are based on the following passage: 

Less than 40 years ago in the United States, it was common to change a one-dollar bill for a dollar’s worth of silver. That is because the coins were actually made of silver. But those days are gone. There is no silver in today’s coins. When the price of the precious metal rises above its face value as money, the metal will become more valuable in other uses. Silver coins are no longer in circulation because the silver in coins is worth much more than their face value. A silver firm could find that it is cheaper to obtain silver by melting down coins than by buying it on the commodity markets. Coins today are made of an alloy of cheaper metals. 

Gresham’s Law, named after Sir Thomas Gresham, argues that "good money" is driven out of circulation by "bad money". Good money differs from bad money because it has higher commodity value. 

Gresham lived in the 16th century in England where it was common for gold and silver coins to be debased. Governments did this by mixing cheaper metals with gold and silver. The governments could thus make a profit in coinage by issuing coins that had less precious metal than the face value indicated. Because different mixings of coins had different amounts of gold and silver, even though they bore the same face value, some coins were worth more than others as commodities. People who dealt with gold and silver could easily see the difference between the "good" and the "bad" money. Gresham observed that coins with a higher content of gold and silver were kept rather than being used in exchange, or were melted down for their precious metal. In the mid-1960s when the U.S. issued new coins to replace silver coins, Gresham’s law went right in action. 

51. Why was it possible for Americans to use a one-dollar bill for a dollar’s worth of silver? 

A. Because there was a lot of silver in the United States. 

B. Because money was the medium of payment. 

C. Because coins were made of silver. 

D. Because silver was considered worthless. 

52. Today’s coins in the United States are made of ______. 

A. some precious metals 

B. silver and some precious metals 

C. various expensive metals 

D. some inexpensive metals 

53. What is the difference between "good money" and "bad money"? 

A. They are circulated in different markets. 

B. They are issued in different face values. 

C. They are made of different amounts of gold and silver. 

D. They have different uses. 

54. What was the purpose of the governments issuing new coins by mixing cheaper metals with gold and silver in the 16 th century? 

A. They wanted to reserve some gold and silver for themselves. 

B. There was neither enough gold nor enough silver. 

C. New coins were easier to be made. 

D. They could make money. 

Questions 55 to 58 are based on the following passage: 

By the mid-nineteenth century, the term "ice-box" had entered the American language, but ice was still only beginning to affect the diet of ordinary citizens in the United States: The ice trade grew with the growth of cities. Ice was used in hotels, taverns, and hospitals, and by some forward-looking city dealers in fresh meat, fresh fish, and butter. After the Civil War (1861-1865), as ice was used to refrigerate freight cars, it also came into household use. Even before 1880, half the ice sold in New York, Philadelphia, and Baltimore, and one-third of that sold in Boston and Chicago, went to families for their own use. This had become possible because a new household convenience, the icebox, a precursor of the modem refrigerator, had been invented. 

Making an efficient icebox was not as easy as we might now suppose. In the early nineteenth century, the knowledge of heat, which was essential to a science of refrigeration, was rudimentary. The commonsense notion that the best icebox was one that prevented the ice from melting was of course mistaken, for it was the melting of ice that performed the cooling. Nevertheless, early efforts to economize ice included wrapping the ice in blankets, which kept the ice from doing its job. Not until near the end of the nineteenth century did inventors achieve the delicate balance of insulation and circulation needed for an efficient icebox. 

But as early as 1803, an ingenious Maryland farmer, Thomas Moore, had been on the right track. He owned a farm about twenty miles outside the city of Washington, for which the village of Georgetown was the market center. When he used an icebox of his own design to transport his butter to market, he found that customers would pass up the rapidly melting stuff in the tubs of his competitors to pay a premium price for his butter, still fresh and hard in neat, one-pound bricks. 

One advantage of his icebox, Moore explained, was that farmers would no longer have to travel to market at night in order to keep their produce cool. 
55. What is the main idea of this passage? 

A. The influence of ice on the diet. 

B. The transportation of goods to market. 

C. The development of refrigeration. 

D. Sources of the term "ice-box". 

56. According to the passage, when did the word "icebox" become part of the American language? 

A. In 1803. 

B. Around 1850. 

C. During the Civil War. 

D. Before 1880. 

57. The word "rudimentary" in paragraph 2 is closest in meaning to__________ 

A. basic 

B. sufficient 

C. necessary 

D. undeveloped 

58. The sentence "Thomas Moore had been on the right track" (para.3) indicates that__________ 

A. Moore’s farm was not far away from Washington 

B. Moore’s farm was on the right road 

C. Moore’s design was completely successful 

D. Moore was suitable for the job
Questions 59 to 62 are based on the following passage:
Today, the computer has taken up appliance status in more than 42 percent of households across the United States. And these computers are increasingly being wired to the Internet. Online access was up more than 50 percent in just the past year. Now, more than one quarter of all U.S. households can surf in cyberspace.  

Mostly, this explosive growth has occurred democratically. The online penetration and computer ownership increases extend across all the demographic levels-by race, geography, income, and education.

We view these trends as favorable without the slightest question because we clearly see computer technology as empowering. In fact, personal growth and a prosperous U.S. economy are considered to be the long-range rewards of individual and collective technological power.

Now for the not-so-good news. The government's analysis spells out so-called digital divide. That is, the digital explosion is not booming at the same pace for everyone. Yes, it is true that we are all plugged in to a much greater degree than any of us have been in the past. But some of us are more plugged in than others and are getting plugged in far more rapidly. And this gap is widening even as the pace of the information age accelerates through society.

Computer ownership and Internet access are highly classified along lines of wealth, race, education, and geography. The data indicates that computer ownership and online access are growing more rapidly among the most prosperous and well educated, essentially, wealthy white people with high school and college diplomas and who are part of stable, two-parent households.

The highest income bracket households, those earning more than $75,000 annually are 20 times as likely to have access to the Internet as households at the lowest income levels, under $10,000 annually. The computer penetration rate at the high-income level is an amazing 76.56 percent, compared with 8 percent at the bottom end of the scale.

Technology access differs widely by educational level. College graduates are 16 times as likely to be Internet surfers at home as are those with only elementary-school education .If you look at the differences between these groups in rural areas, the gap widens to a twenty-six-fold advantage for the college-educated.

From the time of the last study, the information access gap grew by 29 percent between the highest and lowest income groups, and by 25 percent between the highest and lowest education levels.

In the long run, participation in the information age may not be a zero sum game, where if some groups win, others must lose. Eventually, as the technology matures, we are likely to see penetration levels approach all groups equally. This was true for telephone access and television ownership, but eventually can be cold comfort in an era when tomorrow is rapidly different from today and unrecognizable compared with yesterday.

59. How many U.S. households have linked to Internet today? 

A. More than 25 percent.                B. By 29 percent.

C. More than 42 percent.                D. More than 50 percent.

60. According to the text the computer use by the high-income level is _______ that by the lowest income levels.                           

A.8 percent more than                  B.76.56 percent more than  

C. nearly 10 times as many as            D. about 20 times as many as 

61. According to the author, which of the following prevents people from gaining access to the Internet?

A. Income level.                         
B. Poor education and low-income level. 
C. Participation in the information age.  
D. Telephone access and television ownership.-

62. Judging from the context, what does "digital divide" (Para.4) probably mean?

A. The government's analysis.           

B. The divide between the poor and the rich.      

C. The pace of the information age.                 

D. The gap between people's access to the computer.  

Questions 63 to 65 are based on the following passage:
Just over a year ago, I foolishly locked up my bicycle outside my office, but forgot to remove the pannier (挂篮). When I returned the pannier had been stolen. Inside it were about ten of the little red notebooks I take everywhere for jotting down ideas for articles, short stories, TV shows and the like.

When I lost my notebooks, I was devastated; all the ideas I'd had over the past two years were contained within their pages. I could remember only a few of them, but had the impression that those I couldn't recall were truly brilliant. Those little books were crammed with the plots of award-winning novels and scripts for radio comedy shows that were only two-thirds as bad as the ones on at the moment.

That's not all, though. In my reminiscence, my lost notebooks contained sketches for many innovative and incredible machines. In one book there was a design for a device that could turn sea water into apple cider; in another, plan for an automatic dog； in a third ,sketches for a pair of waterproof shoes with television screens built into the toes. Now all of these plans are lost to humanity.

I found my notebooks again. It turns out they weren't in the bike pannier at all, but in a carrier bag in my spare room, where I found six months after supposedly losing them .And when I flipped through their pages, ready to run to the patent office in the morning, I discovered they were completely full of rubbish.

Discovering the notebooks really shook me up. I had firmly come to believe they were brimming with brilliant, inventive stuff-and yet clearly they weren't. I had deluded myself.

After surveying my nonsense, I found that this halo effect always attaches itself to things that seem irretrievably lost. Don't we all have a sneaking feeling that the weather was sunnier, TV shows funnier and cake-shop buns bunnier in the not-very-distant past?

All this would not matter much except that it is a powerful element in reactionary thought, this belief in a better yesterday. After all, racism often stems from a delusion that things have deteriorated since "they" came. What a boon to society it would be if people could visit the past and see that it wasn't the paradise they imagine but simply the present with different hats.

Sadly, time travel is impossible.

Until now, that is. Because I've suddenly remembered I left a leather jacket in an Indonesian restaurant a couples of years ago, and I'm absolutely certain that in the inside pocket there was a sketch I'd made...

63. By "only two-thirds as bad as the ones on at the moment," the author means ____.
    A. better than     B. as bad as         C. worse than       D. as good as

64. As soon as the author read me lost notebooks, he________ .
    A. reported the fact                B. found it valueless

C. registered the inventions          D. was very excited
65. Which of the following would the author most probably agree with?
A. Yesterday is better.       
B. Yesterday is no better than today.

C. Self delusion sometimes is necessary.   

D. Things today have deteriorated.

Section B
Directions: Read the following passage carefully and then give short answers to Questions 66-70.Write your answers on ANSWER SHEET 2.

A television ad features a ship drifting on a twinkling ocean as the voice-over intones words to this effect, "When was the last time the world revolved around you?" Whenever my husband and I see this, we can't help but laugh. Pointing to our daughter, we shout, "When didn't it?"

But it's a rueful chuckle (苦笑).Somehow our family does revolve around our child: her sports, her homework, her social commitments. My husband and I have lives too. It's just that we must fit them into whatever scrap of time is left over.

Somewhere in the last two generations, we shifted our focus from marriage as the family foundation to children. It's been a subtle change, and you have to look closely to see its impact on marriage.

Compare the time your parents spent exclusively together to the amount you and your mate do. Parents of earlier generations went out on Saturday nights. Today's families cart the kids to parties with family friends. Is it good for the parents and kids to be together?

Parents once supported each other's needs, and children's preferences came second. "Turn off that television. Your father deserves some peace when he comes home" and "No, you can't sit in the front. That's your mother's seat" were perfectly reasonable things to say. Many couples took half an hour at the day's end to share a drink and conversation .Children were expected to play independently.

Bedroom doors were closed and parents beds sacred. Sex was an adult secret enjoyed by parents who were confident that their children wouldn't walk in without knocking. Now, parents can't find time or privacy. Children centeredness has gone too far.

    How did we make marital love second to parental love? 
    The increasing balance of power between the sexes that resulted from women achieving more economic independence cut ruthlessly into the time women have for their children. A marriage-centered family was once a father-centered family. Parents spent time together when Dad came home. Today Mum might spend that half hour reading a story to her son. He too wants to reconnect, and in a child-centered family, that takes precedence .When time is limited, we put our children first. Dad's position has been eroded by the demands of an ever more competitive childhood. Child experts have shown us the benefits of early stimulation, socializing, being read aloud to. To afford a child these advantages requires 1,000 gymnastics visits, music lessons, tutoring.

Intellectual achievements are all fast tracked now too. Children arrive in kindergarten having long since learned the letters and colors once lovingly taught during that first year of school. And good schools are the ones assigning more homework, requiring more parent participation.

66. What is the author's attitude towards children centeredness?

67. Why does the author say "It's been a subtle change"?

68. What does the word "erode" mean?

69. Give examples to show "an ever more competitive childhood".

70. Mention two factors that have made the shift from marital love to parental love.

Section V Translation (10 points)

Directions: In this section there is a passage in English. Translate the five sentences underlined into Chinese and write your translation on the ANSWER SHEET 2.

March 27, 1997, dawned as a normal day at the Collins' home. By the middle of the morning, Jack Collins was at his desk, writing checks, paying bills the way he always had on time. Then the phone rang, and the nightmare began.

 (71) An investigation for a bank was on the line, asking in a severe voice why Collins , a university physicist was late on payments for a ＄27000 car, bought in Virginia the previous years. "I don't have a car like this," Collins protested. The last time he had set foot in Virginia was as an officer at a submarine base, three decades ago. But his name was on the contract, and so was his Social Security Number.

During the months that ensued, he and his wife learned that someone had bought four more cars and 28 other items-worth $113,000 in all in their name. Their hitherto good credit record had been destroyed. (72) “After a lifetime of being honest" says Collins,” all of a sudden I was basically accused of stealing and treated like a criminal."
This is what it means to fall prey to a nonviolent but frightening and fast-growing crime: identity theft. It happens to at least 500,000 new victims each year, according to government figures.

(73) "And it happens very easily because every identification number you have such as Social Security, credit cards, driver's license, and telephone, is a key that unlocks some storage of money or goods," says a fraud (欺诈)program manager of the US Postal Service. "So if you throw away your credit card receipt and I get it and use the number on it, I'm not becoming you, but to the credit card company I've become your account."

(74) One major problem, experts say, is that the Social Security Number (SSN)-originally meant only for retirement benefit and tax purposes-has become the universal way to identify people. It is used as identification by the military, colleges and in billions of commercial transactions.

Yet a shrewd thief can easily snatch your SSN, not only by stealing your wallet, but also by taking mail from your box, going through your trash for discarded receipts and bills or asking for it over the phone on some pretext.

Using your SSN, the thief applies for a credit card in your name, asking that it be sent to a different address than yours, and uses it for multiple purchases. A couple of months later the credit card company, or its debt collection agency, presses you for payment.

You don't have to pay the debt, but you must clean up your damaged credit record. (75) That means getting a police report and copy of the erroneous contract, and then using them to clear the fraud from your credit reports which is held by a credit bureau. Each step can require a huge amount of effort.

Section VI  Writing  (15  points)  

76.  Directions: In this section, you are asked to write a composition entitled “Which Is More Important, Family or Career?” Your composition should be about 120 words. Remember to write clearly on the ANSWER SHEET 2.  

2005年MBA联考英语真题

Section I  Vocabulary

Directions: There are 20 incomplete sentences in this section. For each sentence there are four choices marked A,B,C and D. Choose the one that best completes the sentence and mark your answers on ANSWER SHEET 1  with a pencil.(10 points)

1．Advertisers often aim their campaigns at young people as they have considerable spending____.

   A．power            B．force         C．energy            D．ability

2．We’ve bought some _____chairs for the garden so that they are easy to store away. 

    A．adapting         B．adjusting      C．bending            D．folding

3．The new speed restrictions were a _  _debated issue.

    A．heavily            B．hotly        C．deeply             D．profoundly

4．His change of job has ____him with a new challenge in life 

    A．introduced          B．initiated     C．presented           D．led

5．No _____you’re hungry if you haven’t eaten since yesterday.

    A．matter              B．surprise     C．wonder              D．problem

6．The pianist played beautifully, showing a real _____for the music.

    A．feeling             B．understanding  C．appreciation         D．sense

7．The boss _____into a rage and started shouting at Robert to do as he was told.

    A．flew               B．charged        C．rushed             D．burst

8．Politicians should never lose ____of the needs of the people they represent 

    A．view               B．sight          C．regard             D．prospect

9．The employees tried to settle the dispute by direct ____with the boss.

    A．negotiation          B．connection      C．association          D．communication

10．You haven’t heard all the facts so don’t _____to conclusions.

    A．dash               B．jump          C．much              D．fly

11．I am ____aware of the need to obey the rules of the competition.

    A．greatly              B．far           C．much               D．well

12．The manager has always attended to the ____of important business himself.

    A．transaction           B．solution        C．translation          D．stimulation

13．As is known to all, a country gets a (an) ____from taxes.

    A．income              B．revenue         C．fund                 D．payment

14．The government has decided to reduce ____on all imports.

    A．fee                  B．charge         C．tariff                D．tuition

15．The need for financial provision ___not only to producers but also to consumers.

    A．connects              B．links           C．associates             D．relates

16．The ability of bank to create deposits is determined by the ratio of liquid assets which they___

    A．mount                B．contain         C．remain               D．maintain

17．The first serious prospect of a cure for Aids，    a treatment which delays its effects ,ha emerged recently.

    A．other than             B．rather than      C．more than            D．less than 

18．His parents died when he was young, so he was     by his grandma.
    A．bred                  B．brought         C．fed                 D．grown 

19．The Japanese dollar-buying makes traders eager to     dollars in fear of another government intervention .

    A．let in                  B．let out         C．let go of              D．let off 

20．The local people could hardly think of any good way to     the disaster of the war.
    A．shake off               B．get off         C．put off              D．take off 

Section II Cloze

Directions: Read the following passage. For each numbered blank, there are four choices marked A, B, C, and D. Choose the best one and mark your answer on ANSWER SHEET 1. (15 points)

A few decades ago, the world banking community invented new Electronic Funds Transfer (EFT) systems to move money more efficiently across countries and around the globe. The __21__ benefit of such systems was to ____22__ the float of capital that was unavailable for __ 23___ checks were being cleared through banking  24_ . Today, we understand that benefits of electronic banking are far more ___25___ than just reducing floating cash. The world of banking __26___ revolutionized. It is ___27__more efficient and faster, but more global. And now ___28__ the Internet, EFT systems are increasingly ___29___ with the new world of e-commerce and e-trade.

__30__ 1997 and 2003 EFT value ___31___ from less than $40 trillion, more than the ___32___ economic product of all the countries and territories of the entire world. These statistics __33___ should emphasize the true importance of transnational EFT. Satellite, wireless, and cable-based electronic fund transfers __34___ the hub of global enterprise. Such electronic cash is __35__ central to the idea of an emerging “worldwide mind”. Without the satellite and fiber infrastructure to support the flow of electronic funds, the world economy would grind to a halt.

21.  A. hiding          B. getting            C. driving         D. giving     

22.  A. introduce        B. reduce            C. produce         D. increase          

23.  A. which           B. that              C. while           D. where     

24.  A. mechanics       B. methods           C. procedures       D. systems        

25.  A. extensive        B. intensive           C. profound        D. great  

26.  A. is              B. has               C. has been         D. had been 

27.  A. far             B. even              C. just             D. not only 

28.  A. with           B. by                 C. for             D. on  

29.  A. linked          B. integrated            C. controlled       D. joined        

30.  A. Between        B. In                 C. From           D. Among   

31.  A. decreased       B. raised              C. elevated        D. soared    

32.  A. gross           B. accelerated         C. combined        D. collective       

33.  A. lonely          B. alone              C. only            D. merely        

34.  A. present         B. represent            C. reserve         D. comprehend   

35.  A. so             B. nevertheless        C. thereafter         D. therefore        

Section III Reading Comprehension            

Directions: Read the following passages. Answer the questions below each passage by choosing A. B. C. or D. Mark your answers on ANSWER SHEET1. (40 points )

Questions 36 to 40 are based on the following passage

Working at nonstandard times-evenings, nights, or weekends-is taking its toll on American families. One-fifth of all employed Americans work variable or rotating shifts, and one-third work weekends, according to Harriet B. Presser, sociology professor at the University of Maryland. The result is stress on familial relationships, which is likely to continue in coming decades.

The consequences of working irregular hours vary according to gender, economic level, and whether or not children are involved. Single mothers are more likely to work nights and weekends than married mothers. Women in clerical, sales, or other low-paying jobs participate disproportionately in working late and graveyard shifts.

Married-couple households with children are increasingly becoming dual-earner households, generating more split-shift couples. School-aged children, however, may benefit from parents’ nonstandard work schedules because of the greater likelihood that a parent will be home before or after school. On the other hand, a correlation exists between nonstandard work schedules and both marital instability and a decline in the quality of marriages.

Nonstandard working hours mean families spend less time together for diner but more time together for breakfast. One-on-one interaction between parents and children varies, however, based on parent, shift, and age of children. There is also a greater reliance on child care by relatives and by professional providers.

Working nonstandard hours is less a choice of employees and more a mandate of employers. Presser believes that the need for swing shifts and weekend work will continue to rise in the coming decades. She reports that in some European countries there are substantial salary premiums for employees working irregular hours-sometimes as much as 50% higher. The convenience of having services available 24 hours a day continues to drive this trend.

Unfortunately, says Presser, the issue is virtually absent from public discourse. She emphasizes the need for focused studies on costs and benefits of working odd hours, the physical and emotional health of people working nights and weekends, and the reasons behind the necessity for working these hours. “Nonstandard work schedules not only are highly prevalent among American families but also generate a level of complexity in family functioning that needs greater attention,” she says.

36. Which of the following demonstrates that working at nonstandard times is taking its toll on American families?

A. Stress on familial relationships.

B. Rotating shifts.

C. Evenings, nights, or weekends.
D. Its consequences.

37. Which of the following is affected most by working irregular hours?

A. Children

B. Marriage

C. Single mothers.

D. Working women.
38. Who would be in favor of the practice of working nonstandard hours?
A. Children      B. Parents      C. Employees        D. Professional child providers

39. It is implied that the consequences of nonstandard work schedules are ______.

A. emphasized   B. absent       C. neglected         D. prevalent

40. What is the author’s attitude towards working irregular hours?

A. Positive      B. Negative      C. Indifferent       D. Objective

Questions 41 to 45 are based on the following passage

Most human beings actually decide before they think. When any human being-executive, specialized expert, or person in the street-encounters a complex issue and forms an opinion, often within a matter of seconds, how thoroughly has he or she explored the implications of the various courses of action? Answer: not very thoroughly. Very few people, no matter how intelligent or experienced, can take inventory of the many branching possibilities, possible outcomes, side effects, and undesired consequences of a policy or a course of action in a matter of seconds. Yet, those who pride themselves on being decisive often try to do just that. And once their brains lock onto an opinion, most of their thinking thereafter consists of finding support for it.

A very serious side effect of argumentative decision making can be a lack of support for the chosen course of action on the part of the “losing” faction. When one faction wins the meeting and the others see themselves as losing, the battle often doesn’t end when the meeting ends. Anger, resentment, and jealousy may lead them to sabotage the decision later, or to reopen the debate at later meetings.

There is a better solution. As philosopher Aldous Huxley said, “It isn’t who is right, but what is right, that counts.”

The structured-inquiry method offers a better alternative to argumentative decision making by debate. With the help of the Internet and wireless computer technology the gap between experts and executives is now being dramatically closed. By actually putting the brakes on the thinking process, slowing it down, and organizing the flow of logic, it’s possible to create a level of clarity that sheer argumentation can never match.

The structured-inquiry process introduces a level of conceptual clarity by organizing the contributions of the experts, then brings the experts and the decision makers closer together. Although it isn’t possible or necessary for a president or prime minister to listen in on every intelligence analysis meeting, it’s possible to organize the experts’ information to give the decision maker much greater insight as to its meaning. This process may somewhat resemble a marketing focus group; it’s a simple, remarkably clever way to bring decision makers closer to the source of the expert information and opinions on which they must base their decisions.

41. From the first paragraph we can learn that ____.

A. executive, specialized expert, are no more clever than person in the street.
   B. very few people decide before they think.
   C. those who pride themselves on being decisive often fail to do so.
   D. people tend to consider carefully before making decisions.

42. Judging from the context, what does the word “them” (line4, paragraph 2) refer to?
   A. Decision makers.
   B. The “losing” faction
   C. Anger, resentment, and jealousy.
   D. Other people

43. Aldous Huxley’s remark (paragraph 3) implies that ____.
   A. there is a subtle difference between right and wrong
   B. we cannot tell who is right and what is wrong
   C. what is right is more important than who is right
   D. what is right accounts for the question who is right

44. According to the author, the function of the structured-inquiry method is ____.

   A. to make decision by debate
   B. to apply the Internet and wireless computer technology
   C. to break on the thinking process, slowing it down
   D. to create a level of conceptual clarity

45. The structured-inquiry process can be useful for ____.

   A. decision makers
   B. intelligence analysis meeting
   C. the experts’ information
   D. marketing focus groups

Questions 46 to 50 are based on the following passage

Sport is heading for an indissoluble marriage with television and the passive spectator will enjoy a private paradise. All of this will be in the future of sport. The spectator (the television audience) will be the priority and professional clubs will have to readjust their structures to adapt to the new reality sport as a business.

The new technologies will mean that spectators will no longer have to wait for broadcasts by the conventional channels. They will be the ones who decide what to see. And they will have to pay for it. In the United States the system of the future has already started: pay-as-you-view. Everything will be offered by television and the spectator will only have to choose. The review Sports Illustrated recently published a full profile of the life of the supporter at home in the middle of the next century. It explained that the consumers would be able to select their view of the match on a gigantic, flat screen occupying the whole of one wall, with images of a clarity which cannot be foreseen at present; they could watch from the trainer’s stands just behind the batter in a game of baseball or from the helmet of the star player in an American football game. And at their disposal will be the sane option s the producer of the recorded programmer has to select replays, to choose which camera to me and to decide on the sound whether to hear the public, the players, the trainer and so on.

Many sports executives, largely too old and too conservative to feel at home with the new technologies will believe that sport must control the expansion of television coverage in order to survive and ensure that spectators attend matches. They do not even accept the evidence which contradicts their view while there is more basketball than ever on television. For example, it is also certain that basketball is more popular than ever.

It is also the argument of these sports executives that television harming the modest team. This is true, but the future of those teams is also modest. They have reached their ceiling. It is the law of the market. The great events continually attract larger audience.

The world is being constructed on new technologies so that people can make the utmost use of their time and, in their home have access to the greatest possible range of recreational activities. Sport will have to adapt itself to the new world.

The most visionary executives go further. That philosophy is: rather than see television take over sport why not have sports taken over television ?

46. What does the writer mean by the use of the phrase “an indissoluble marriage” in the paragraph?
   A. Sport is combined with television.
   B. Sport controls television.
   C. Television dictates sport.
   D. Sport and television will go their own ways.
47. What does “they” in line 2, paragraph 2 stand for?
   A. broadcasts     B. channels       C. spectators     D. technologies

48. How do many sports executives feel with the new technologies?
A. They are too old to do anything.
B. They feel ill at ease.
C. They feel completely at home.
D. Technologies can go hand in hand with sports.
49. What is going to be discussed in the following paragraphs?
   A. The philosophy of visionary executives.
   B. The process of television taking over sport.
   C. Television coverage expansion.
   D. An example to show how sport has taken over television.

50. What might be the appropriate title of this passage?
   A. The arguments of sports executives
   B. The philosophy of visionary executives
   C. Sport and television in the 21 century
   D. Sport a business

Questions 51 to 55 are based on the following passage

Convenience food helps companies by creating growth, but what is its effect on people? For people who think cooking was the foundation of civilization, the microwave is the last enemy. The communion of eating together is easily broken by a device that liberates households citizens from waiting for mealtimes. The first great revolution in the history of food is in danger of being undone. The companionship of the campfire, cooking pot and common table, which have helped to bond humans in collaborative living for at least 150000 years could be destroyed.

Meals have certainly sated from the rise of convenience food. The only meals regularly taken together in Britain these days are at the weekend, among rich families struggling to retain something of the old symbol of togetherness. Indeed, the day’s first meal has all but disappeared. In the 20th century the leisure British breakfast was undermined by the corn flake, in the 21st breakfast is vanishing altogether, a victim of the quick cup of coffee in Starbucks and the cereal bar.

Convenience food has also made people forget how to cook. One of the apparent paradoxes of modern food is that while the amount of time spent cooking meals has fallen from 60 minutes a day in 1980 to 13M a day in 2002, the number of cooks and television programmer on cooking has multiplied. But perhaps this isn’t a paradox. Maybe it is because people can’t cook anymore, so they need to be told how to do it, or maybe it is because people buy books about hobbies---golf, yachting---not about chores. Cooking has ceased to be a chore and has become a hobby.

Although everybody lives in the kitchen its facilities are increasingly for display rather than for use. Mr. Silverstein’s new book, “Trading Up,” looks at mid-range consumer’s milling now to splash out. He says that industrial-style Viking cook pot, with nearly twice the heat output or other ranges, have helped to push the “kitchen as theater” trend in hour goods. They cost from $1000 to $9000. Some 75% of them are never used.

Convenience also has an impact on the healthiness, or otherwise, of food. Of course there is nothing bad about ready-to-eat food itself. You don’t get much healthier than an apple, and supermarkets sell a better-for-you range of ready-meals. But there is a limit to the number of apples people want to eat; and these days it is easier for people to eat the kind of food that makes them fat. The three Harvard economists in their paper “why have Americans become more obese?” point out that in the past, if people wanted to cook the potato and once to get it crispy. Which discouraged of consumption of that cost of food. Mass preparation of food took away that constraint. Nobody has to cut and double cook their own fries these days. Who has the time? 

51. What might the previous paragraphs deal with?
  A. The relationship between meals and convenience food.
  B. The importance of convenience food in people’s life.
  C. The rise of convenience food.
  D. The history of food industry.
52. What is the paradox in the third paragraph?
  A. People don’t know how to cook.
  B. The facilities in the kitchen are not totally used..
  C. People are becoming more obese, thus unhealthy.
  D. Convenience food actually does not save people time.
53. What does the passage mainly discuss?
  A. The bad effects of convenience food.
  B. Mr. Silverstein’s new book.
  C. People’s new hobby.
  D. Disappearance of the old symbol of togetherness.
54. Why have Americans become more obese?
A. Because of eating chips.
B. Because of being busy.
C. Because of being lazy.
D. Both B and C.
55. Which of the following might the author most likely agree with?
  A. There is nothing bad about convenience food.
  B. Convenience food makes people lazy. 
  C. Convenience food helps companies grow..
D. Convenience food is a revolution in cooking..

Section IV Translation

Directions: In this section there is a passage in English. Translate the five sentences underlined into Chinese and write your translation on ANSWER SHEET 2. (15 points)

People in business can use foresight to identify new products and services, as well as markets for those products and services. An increase in minority populations in a neighborhood would prompt a grocer with foresight to stock more foods linked to ethnic tastes. (56)An art museum director with foresight might follow trends in computer graphics to make exhibit more appealing to younger visitors.

Foresight may reveal potential threats that we can prepare to deal with before they become crises. (57)For instance, a capable corporate manager might see alarming rise in local housing price that could affect availability of skilled workers in the region. The public’s changing values and priorities, as well as emerging technologies, demographic shifts, economic constraints, and environmental and resource concerns are all parts of the increasingly complex world system in which leaders must lead.

(58)People in government also need foresight to keep systems running smoothly, to plan budgets, and to prevent wars. Government leaders today must deal with a host of new problems emerging from rapid advances in technology.

Even at the community level, foresight is critical: school officials, for example, need foresight to assess numbers of students to accommodate, numbers of teachers to hire, new educational technologies to deploy, and new skills for students to develop.

(59)Many of the best known technique for foresight were developed by government planners, especially in the military, “thinking about the unthinkable”. Pioneering futurists at the RAND Corporation began seriously considering what new technologies might emerge in the future and how these might affect U.S security. These pioneering futurists at RAND, along with others elsewhere, refined a variety of new ways for thinking about the future.

(60)The futurists recognized that the future world is continuous with the present world, so we can learn a great deal about what may happen in the future by looking systematically at what is happening now.

Section VI Writing

Directions: In this section, you are required to write a composition entitled “Which Is Your Favorite Choice: Famous University or Specialty” You should write more than 150 words neatly on ANSWER SHEET 2. (20 points )
“五一”、“十一”长假已逐步为人们所习惯，它给百姓带来了充足的娱乐休闲机会，更促进了旅游经济的发展。但是，“黄金周”也带来了诸如交通压力增大、环保等诸多问题。作为一名普通百姓，请你给政府有关部门写一封信，提出你关于“黄金周”的意见和建议。

2006年MBA联考英语真题

Section I Vocabulary (10 points)
Directions：There are 20 incomplete sentences in this section．For each sentence there are four choices marked A, B, C, and D．Choose the ONE answer that best completes the sentence．Then blacken the corresponding letter on the ANSWER SHEET with a pencil．
1. In some countries girls are still _____ of a good education.   

A. denied         B. declined          C. derived          D. deprived 

2. As the years passed, the memories of her childhood ______ away.   

A. faded          B. disappeared       C. flashed          D. fired 

3. Brierley’s book has the________ of being both informative and readable.   

A. inspiration      B. requirements      C. myth            D. merit  

4. If I have any comments to make, I’ll write them in the ______of the book I’m reading.   

A. edge           B. page             C. margin          D. side 

5. My ________ would really trouble me if I wore a fur coat.   

A. consciousness   B. consequence       C. constitution      D. conscience 

6. When the post fell_______. Dennis Bass was appointed to fill it.   

A. empty         B. vacant             C. hollow         D. hare 

7. Mother who takes care of everybody is usually the most _________person in each family.   

A. considerate     B. considerable        C. considering     D. constant 

8. For ten years the Greeks _______the city of Troy to separate it from the outside.   

A. captured       B. occupied           C. destroyed       D. surrounded 

9. Other guests at yesterday’s opening, which was broadcast______ by the radio station, included Anne Melntosh and Mayor.   

A. live            B. alive              C. living           D. lively 

10. A New Zealand man was recently ______ to life imprisonment for the murder of an English tourist, Monica Cantwell.   

A. punished       B. accused            C. sentenced        D. put

11. The past 22 years have really been amazing, and every prediction we’ve made about improvements have al come____.     

A. truly          B. true               C. Truth            D. truthful   

12. The teachers tried to ______these students that they could solve the complicated problem; however, they just didn’t see the point.     

A. convince      B. encourage           C. consult          D. inclined   

13. I’m_________ to think that most children would like their teachers to be their friends rather than their commanders.     

A. subjected       B. supposed           C. declined         D. inclined   

14. She is under the impression that he isn’t a ______ person for he wouldn’t tell her where and when he went to university.     

A. genius         B. generous           C. genuine         D. genetic   

15. The first glasses of Coca Cola were drunk in 1886. The drink was first _____ by a US chemist called John Pemberton     

A. formed         B. made             C. found           D. done   

16 .These two chemicals _________ with each other at a certain temperature to produce a substance which could cause an explosion.     

A. interact         B. attract             C. react           D. expel   

17.  _________they can get people in the organization to do what must he done, they will not succeed.     

A. Since          B. Unless             C. If             D. Whether   

18. Once you have started a job, you should do it__________.     

A. in practice      B. in theory           C. in earnest       D. in a hurry   

19. Although they new library service has been very successful, its future is ______certain.     

A. at any rate      B. by no means        C. by all means    D. at any cost   

20. To my surprise, at yesterday’s meeting he again _________ the plan that had been disapproved a week before.     

A. brought about    B. brought out      C. brought up        D. brought down

Section II Cloze (10 points) 

Directions: For each numbered blank in the following passage, there are four choices marked A, B, C, and D. Choose the best one and mark your answer on the ANSWER SHEET 1. 

Wholesale prices in July rose more sharply than expected and at a faster rate than consumer prices,  21  that businesses were still protecting consumers  22  the full brunt (冲 击) of higher energy costs. 

The Producer Price Index 23 measures what producers receive for goods and services,  24  1 percent in July, the Labor Department reported yesterday, double  25  economists had been expecting and a sharp turnaround from flat prices in June. Excluding  26  and energy, the core index of producer prices rose 0.4 percent,  27  than the 0.1 percent that economists had  28 . Much of that increase was a result of an  29  increase in car and truck prices. 

On Tuesday, the Labor Department said the  30  that consumers paid for goods and services in July were  31  0.5 percent over all, and up 0.1 percent, excluding food and energy. 

32   the overall rise in both consumer and producer prices  33  caused by energy costs, which increased 4.4 percent in the month. (Wholesale food prices  34  0.3 percent in July.  35  July 2004, Wholesale prices were up 4.6 percent, the core rate  36  2.8 percent, its fastest pace since 1995. 
Typically, increases in the Producer Price Index indicate similar changes in the consumer index  37  businesses recoup (补 偿) higher costs from customers. 38  for much of this expansion, which started  39  the end of 2001, that has not been the  40 . In fact, many businesses like automakers have been aggressively discounting their products

21. A. indicate 　      B. to indicate       　C. indicating        　D. indicated 

22. A. of 　           B. to 　             C. by             　D. from 

23. A. that 　          B. which 　          C. it 　            D. this 

24. A. rise 　          B. rises 　           C. rose 　          D. raised 

25. A. that 　          B. what 　           C. which 　        D. this 

26. A. food 　         B. grain 　           C. crop 　         D. diet 

27. A. less 　          B. lower 　          C. higher 　        D. more 

28. A. said 　        B. reported 　         C. calculated 　     D. forecast 

29. A. expectable 　   B. unexpected 　      C. expectation 　    D. expecting 

30. A. prices 　       B. costs 　           C. charges 　       D. values 

31. A. down 　        B. from 　           C. to 　           D. up 

32. A. Much 　       B. Most            　C. Most of        　D. Much of 

33. A. was 　         B. were 　           C. is 　            D. are 

34. A. fall 　         B. fell 　             C. falls 　          D. has fallen 

35. A. Comparing with  B. In comparison 　    C. Compared with  　D. Compare to 

36. A. dropped 　      B. declined 　         C. lifted 　        D. climbed 

37. A. as 　           B. so 　              C. while 　        D. when 

38. A. And 　         B. But 　              C. Yet 　         D. Still 

39. A. at 　           B. by 　               C. in           　D. to 

40. A. condition      　B. situation           　C. matter 　      D. case

Section III Reading Comprehension 

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A, B, C, and D. You should decide on the best choice and blacken the corresponding letter on the ANSWER SHEET with a pencil. (40 points)

Questions 41 to 45 are based on the following passage:  
Office jobs are among the positions hardest hit by computation (计 算 机 自 动 化). Word processors and typists will lose about 93,000 jobs over the next few years, while 57,000 secretarial jobs will vanish. Blame the PC: Today, many executives type their own memos and carry there “secretaries” in the palms of their hands. Time is also hard for stock clerks, whose ranks are expected to decrease by 68,000. And employees in manufacturing firms and wholesalers are being replaced with computerized systems.  

But not everyone who loses a job will end up in the unemployment line. Many will shift to growing positions within their own companies. When new technologies shook up the telecomm business, telephone operator Judy Dougherty pursued retraining. She is now a communications technician, earning about $ 64,000 per year. Of course, if you’ve been a tollbooth collector for the past 30 years, and you find yourself replaced by an EZPass machine, it may be of little consolation(安慰) to know that the telecom field is booming.  

And that’s just it: The service economy is fading: welcome to the expertise(专门知识) economy. To succeed in the new job market, you must be able to handle complex problems. Indeed, all but one of the 50 highest-paying occupations---air-traffic controller---demand at least a bachelor’s degree.  

For those with just a high school diploma(毕业证书), it’s going to get tougher to find a well-paying job. Since fewer factory and clerical jobs will be available, what’s left will be the jobs that computations can’t kill. Computers can’t clean offices ,or care for Alzheimer’s patients(老年痴呆病人). But, since most people have the skills to fill those positions, the wages stay painfully low, meaning computation could drive an even deeper wedge (楔子) between the rich and poor. The best advice now: Never stop learning, and keep up with new technology.  

For busy adults, of course, that can be tough. The good news is that very technology that’s reducing so many jobs is a making it easier to go back to school without having to sit in a classroom. So called Internet distance learning is hot, with more than three million students currently enrolled, and it’s gaining credibility with employers.  

Are you at risk of losing your job to a computer? Check the federal Bureau of Labor Statistics’ Occupational Outlook Handbook, which is available online at bls.gov.

41. From the first paragraph we can infer that all of the following persons are easily thrown into unemployment EXCEPT ____.  

A. secretaries      B. stock clerks       C. managers         D. wholesalers 

42. In the second paragraph the author mentions the tollbooth collector to ____.  

A. mean he will get benefits from the telecomm fled  

B. show he is too old to shift to a new position  

C. console him on having been replaced by a machine  

D. blame the PC for his unemployment

43. By saying  “computation could drive an even deeper wedge between the rich and poor” (line 5. Para 4 ) the author means  

A. people are getting richer and richer  

B. there will be a small gap between rich and poor  

C. the gap between rich and poor is getting larger an larger  

D. it’s time to close up be gap between the rich and poor 

44. What is the author’s attitude towards computers？  

A. positive         B. negative         C. neutral           D. prejudiced

45. Which of the following might serve as the best title of passage？  

A. Blaming the PC  

B. The booming telecomm field  

C. Internet distance leaning  

D. Keeping up with computation
Question 46 to 50 are based on the following passage： 

Tens of thousands of 18-year-olds will graduate this year and be handed meaningless diplomas. These diplomas won’t look any different from those awarded their luckier classmates. Their validity will be questioned only when their employers discover the these graduates are semiliterate(半文盲) 

Eventually a fortunate few will find their way into educational-repair-adult-literacy programs, such as the one where I teach grammar and writing .There, high school graduates and high school dropouts pursuing graduate equivalency certificates will learn the skills they should have learned in school. They will discover they have been cheated by our educational system. 

I will never forget a teacher who got the attention of one of my children by revealing the trump card of failure. Our youngest，a world-class charmer, did little to develop his intellectual talents but always got by. Until Mrs. Stifter.

Our son was high -school senior when be had her for English. “He sits in the back of the room talking to his friends”. She told me.“Why don’t you move him to the front row?” I urged, believing the embarrassment would get him to settle down. Mrs. Stifter said, "I don’t move seniors. I flunk (使 ┅ 不 及 格) them.” Our son’s academic life flashed before my eyes. No teacher had ever threatened him. By the time I got home I was feeling pretty good about this. It was a radical approach for these times, but, well, why not? She’s going to flunk you “I told my son.” 

I did not discuss it any further. Suddenly English became a priority (头 等 重 要) in his life. He finished out the semester with an A. 

I know one example doesn’t make a case, but at night I see a parade of students who are angry for having been passed along until they could no longer even pretend to keep up. Of average intelligence or better, they eventually quit school, concluding they were too dumb to finish. “I should have been held back,” is a comment I hear frequently. Even sadder are those students who are high-school graduates who say to me after a few weeks of class. “I don’t know how I ever got a high-school diploma.”
Passing students who have not mastered the work cheats them and the employers who expect graduates to have basic skills. We excuse this dishonest behavior by saying kids can’t learn if they come from terrible environments. No one seems to stop to think that most kids don’t put school first on their list unless they perceive something is at risk. They’d rather be sailing. 

Many students I see at night have decided to make education a priority. They are motivated by the desire for a better job or the need to hang on to the one they’ve got. They have a healthy fear of failure. 

People of all ages can rise above their problems, but they need to have a reason to do so. Young people generally don’t have the maturity to value education in the same way my adult students value it. But fear of failure can motivate both.

46.What is the subject of this essay？ 

A. view point on learning 

B. a qualified teacher 

C. the importance of examination 

D. the generation gap

47. How did Mrs. Sifter get the attention of one of the author’s children? 

A. flunking him 

B. moving his seat 

C. blaming him 

D. playing card with him

48. The author believes that most effective way for a teacher is to ____. 

A. purify the teaching environments

B. set up cooperation between teachers and parents 

C. hold back student 

D. motivate student

49. From the passage we can draw the conclusion that the authors’ attitude toward flunking is 

A. negative      B. positive       C. biased       D. indifferent

50. Judging from the content, this passage is probably written for ____.

A. administrators     B. students      C. teachers    D. parents

Questions 51 to 55 are based on the following passage: 

Names have gained increasing importance in the competitive world of higher education. As colleges strive for market share, they are looking for names that project the image they want or reflect the changes they hope to make. Trenton State College, for example, became the College of New Jersey nine years ago when it began raising admissions standards and appealing to students from throughout the state. 

“All I hear in higher education is, “Brand, brand, brand,” said Tim Westerbeck, who specializes in branding and is managing director of Lipman Hearne, a marketing firm based in Chicago that works with universities and other nonprofit organizations. “There has been a sea change over the last 10 years. Marketing used to be almost a dirty word in higher education.”
Not all efforts at name changes are successful, of course. In 1997, the New School for Social Research became New School University to reflect its growth into a collection of eight colleges, offering a list of majors that includes psychology, music, urban studies and management. But New Yorkers continued to call it the New School. 

Now, after spending an undisclosed sum on an online survey and a marketing consultant’s creation of “naming structures,” “brand architecture” and “identity systems,” the university has come up with a new name: the New School. Beginning Monday, it will adopt new logon (标 识), banners, business cards and even new names for the individual colleges, all to include the words “the New School.”
Changes in names generally reveal significant shifts in how a college wants to be perceived. In altering its name from Cal State, Hayward, to Cal State, East Bay, the university hoped to project its expanding role in two mostly suburban countries east of San Francisco. 

The University of Southern Colorado, a state institution, became Colorado State University at Pueblo two years ago, hoping to highlight many internal changes, including offering more graduate programs and setting higher admissions standards. Beaver College turned itself into Arcadia University in 2001 for several reasons: to break the connection with its past as a women’s college, to promote its growth into a full-fledged(完 全 成 熟 的) university and officials acknowledged, to eliminate some jokes about the college’s old name on late-night television and “:morning zoo” radio shows. 

Many college officials said changing a name and image could produce substantial results. At Arcadia, in addition to the rise in applications, the average student’s test score has increased by 60 points, Juli Roebeck, an Arcadia spokeswoman, said.

51. Which of the following is NOT the reason for colleges to change their names? 

A. They prefer higher education competition 

B. They try to gain advantage in market share. 

C. They want to project their image. 

D. They hope to make some changes.

52. It is implied that one of the most significant changes in higher education in the past decade is ____. 

A. the brand. 

B. the college names 

C. the concept of marketing 

D. list of majors.

53. The phrase "come up with" (Line 3 Para 4) probably means ____.

A. catch up with 

B. deal with 

C. put forward 

D. come to the realization
54 The case of name changing from Cal State Hayward to Cal State indicates that the university 

A. is perceived by the society 

B. hopes to expand its influence 

C. prefers to reform its reaching programs 

D. expects to enlarge its campus

55. According to the spokeswoman, the name change of Beaver College ____.

A. turns out very successful 

B. fails to attain its goal 

C. has eliminated some jokes 

D. has transformed its status

Question 56 to 60 are based on the following passage:

It looked just like another aircraft from the outside. The pilot told his young passengers that it was built in 1964. But appearances were deceptive and the 13 students from Europe and the USA who boarded the aircraft were in for the flight of their lives. 
Inside the area that normally had seats had become a long white tunnel. Heavily padded(填塞) from floor to ceiling it looked a bit strange. There were almost no windows, but lights along the padded walls illuminated it. Most of the seats had been taken out apart from a few at the back where the young scientists quickly took their places with a look of fear. 

For 12 months, science students from across the continents had competed to win a place on the flight at the invitation of the European Space Agency. The challenge had been to suggest imaginative experiments to be conducted in weightless conditions. 

For the next two hours the flight resembled that of an enormous bird which had lost its reason, shooting upwards towards the heavens before rushing towards Earth. The invention was to achieve weightlessness for a few seconds. 

The aircraft took off smoothly enough. But any feelings that I and the young scientists had that we were on anything like a scheduled passenger service were quickly dismissed when the pilot put the plane into a 45 degree climb which lasted around 20 seconds. Then the engines cut out and we became weightless. Everything became confused and left or right, up or down, no longer had any meaning. After ten seconds of free fall descent the pilot pulled the aircraft out of its nosedive. The return of gravity was less immediate than its loss, but was still sudden enough to ensure that some students came down with a bump. 

Each time the pilot cut the engines and we became weightless. A new team conducted its experiment. First, it was the Dutch who wanted to discover how it is that cats always land on their feet. Then the German team who conducted a successful experiment on a traditional building method to see if it could be used for building a future space station .The Americans had an idea to create solar sails that could be used by satellites. 

After two hours of going up and down in the lane doing their experiments, the predominate feeling was one of excitement rather than sickness. Most of the students thought it was an unforgettable experience and one they would be keen to repeat.

56. What did the writer say about the plane?

A. It had no seats. 

B. It was painted white. 

C. It had no windows. 

D. The outside was misleading.

57. According to the writer, how did the young scientists feel before the flight?

A. sick 

B. keen 

C. nervous 

D. impatient

58. What did the pilot do with the plane after it took off?

A. He quickly climbed and then stopped the engines. 

B. He climbed and them made the plane fall slowly. 

C. He took off normally and then cut the engines for 20 seconds. 

D. He climbed and then made the plane turn over.

59. According to the passage, the purpose of being weightless was to ____.

A. see what conditions bare like in space 

B. prepare the young scientists for future work in space 

C. show the judges of the competition what they could do 

D. make the teams try out their ideas

60. This passage was written to ____.

A. encourage young people to take up science 

B. describe the process of a scientific experiment 

C. show scientists what young people can do 

D. report on a new scientific technique 

Section IV Translation (20 points)
Directions: In this section there is a passage in English Translate the passage into Chinese and write your translation on the ANSWER SHEET.

The smooth landing of shuttle (航天飞机) Discovery ended a flight that was successful in almost every respect but one: the dislodging of a big chunk of foam, like the one that doomed grounding for repairs. But given the repeat of the very problem that two years of retooling was supposed to resolve, the verdict is necessarily mixed. (61) Once again, the space agency has been forced to put off the flight until it can find a solution to the problem, and no one seems willing to guess how that may take.

The Discovery astronauts performed superbly during their two week mission, and the shuttle looked better than ever in some respects. (62) Space officials were justifiably happy that so much had gone well; despite daily worries over possible risks. the flight clearly achieved its prime objectives.

The astronauts transferred tons of cargo to the international space station, which has been limping along overhead with a reduced crew and limited supplies carried up on smaller Russian spacecraft. (63) They replaced a broken device, repaired another and carted away a load of rubbish that had been left on the station, showing the shuttle can bring full loads back down from space. 

This was the most scrutinized shuttle flight ever, with the vehicle undergoing close inspection while still in orbit. (64) New sensing and photographic equipment to look for potentially dangerous to the sensitive external skin proved valuable. A new back flip maneuver allowed station astronauts to photograph the shuttle’s underbelly, and an extra long robotic arm enabled astronauts see parts of the shuttle that were previously out of sight. 

　　(65)The flood of images and the openness in discussing its uncertainties about potential hazards sometimes made it appear that the shuttle was about to fall apart. In the end the damage was clearly tolerable. A much-touted spacewalk to repair the shuttle’s skin the first of its kind moved an astronaut close enough to pluck out some protruding material with his hand Preliminary evidence indicates that Discovery has far fewer nicks and gouges than shuttles on previous flights, 

perhaps showing that improvements to reduce the shedding of debris from the external fuel thank have had some success.
Section V Writing (20 points)

Directions: In this section, you are asked to write an essay based on the following diagram. Describe the diagram and analyze the possible causes. You should write at least 150 words on the ANSWER SHEET.


